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A Measurement: Surface area of solids
Find the total surface area of these solids:
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R Measurement: Volume of solids N
Find the volume of these solids:
1 4 2 3
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C_ Measurement: Drawing accurate nets of solids
What nets are required to make these solids:
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D Measurement: Area of simple shapes

Find the area of these shapes: ,
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E Measurement: Composite areas

Find the shaded area:
1

v Measurement: Similar and congruent triangies
1 Find the missing lengths inthese congruent triangles:

(a) (b)
B 6m
A 2Zm A C
c 8m ,
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2 Find the missing lengths:
(a) (h) 14m
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Measufement: Pythagoras’ theorem in two dimensions
1 Find the missing lengths to two decimat places:

{a) (b) x (© @ - 375m
8.7m
X
17.9m *
4m
2 Find the side length of the largest square to fit inside a cucle with radius 6 cm

H Measurement Perlmeter
Fmd the penmeter of:
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Measuremenh  HAngwsers

A1 7238m2 2 12625n% 3 202.8m2,
@ 1 68724 2 S23.6m® 3 1257m’
4 984m* 5§ 2333m’

7.56 m? 2 24,60 m? 3 9.635 km?

O 1
4 512m? 5 65m* 6 39.87 m?
© 1 43590cm? 2 52.51 m? 3 350012 m?
4 257472 m?
F 1 @ A=10m () A=15m (¢) A=10m
/' B=6m B=6m B=1lm
C=2m C=8m C=12m
2 A=369m (a) A=168m.
B=785m
Q 1@ 7713m (h) 1749m
() 1063 m @) 548m
2 84%9cm

H 1 57.28m 2 1457Tm 3 38m



